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2. frffed § % 9w wgonmsw wemsit w10 I E ?

(A) (14, 35) ¢B) (18,25
(©) (31, 93) (D) (32, 62)
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(A) 5 B) 7
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(A) 38640 (B) 3645
C) 3647 (D) 3740
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¢A) 960 (B) 980
(C) 984 (D) 990
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45°
0 B Q
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822 (HX) 3

https://www.upboardonline.com

(D)

(D)

(D)

(D)

(D

70°

OE

cos A

1

P.T.O.



16. %%ﬂﬁ*]ﬂABCﬁ,éczgooamtanA__l_%| sin A cos B + cos A sin B &1
=5 °

HF B0 3 ;
w0 B) — D) 2
/2 (™ 1
17. W@ﬁ%ﬁ@rﬁﬁ%q@hﬁmﬁ@mmmm
H1 ATBA B ;
: 2 2 1"[?’2
W & B) — i o 2
60° B 180° (©) 360° 90
18. %ﬁmm@fﬁﬂﬁﬁ'ﬂﬂﬂ’ﬁéﬂmwmm 1
1 2 3 ,
1 9 i 9
(C) Enﬂrﬁ (D) Sznﬁrﬁ
19, Frdt SroERE Se ¥ frw wen o WeAE HAM: 261 3R 258 & |ﬂ'ﬁ%%ﬂ
TEAH H A B ; I
(A) 24-2 @) 251 (C) 252 (D) 264
20. I WA AME: - 1
(A) SCERA (B) HI&X
(C) WS (D) (B)T (C) THI
QquEg -F
FUATH S 9 ¢

o1, @dt wm @ Hifo

(&) Fean 2 £ 7.4, (HCF) (99, 153) = 9, W T.H. (LCM) (99, 153) 1 H JTd

it | 2
(@) afs 2 cos? 46° — 1 = cos 6 B, A ¢ 1 TH T FNT | 9
() fargail (4, ) 3 (12,3) % F 1 g0 207 B |y F1 7 I HIRMT | 2
(%) %@(x,w,ﬁﬁaﬁ(a,s)aﬂt(—3,4)1‘1@:@3’!,a’txaﬂzyﬁmm
Hife | 9
822 (HX) 4

https://www.upboardonline.com



(3) U T wg & T R BN 35 AR qw e 0 nh 2 1 v #

A JE T | P
(7)) Frafefeg groft @ wrea 7@ i 3
Ff IR FRFITAT
[ 0-10 3
10 - 20 10
20 - 30 11
30 - 40 - 9
40 - 50 ° 7

92. Tl gig Wil 1 @ IR :
(%) fﬁmaagqaxh_lzwx%ﬁwmﬁﬁqaﬂwEaﬁamgvﬁaﬁ%aﬁa%

FrE-y ) wegan =t St hife | 4
(@) 2 deeil F i o I 180 & | DI FeA i o G T H AR |
2t gt e i | 4
() fig B freh g 3 Fr 99 T dih @ Yl F e
ﬁwm&ﬁaﬁﬁﬁaﬁm%mmwﬁmmﬂﬁwmwm
2 4
() f 8, 04.08=0C.0D |G LA=2CHM 2LB=4D. y
C
A
0
D
B
P.T.O.

822 (HX) 5
| https://www.upboardonline.com



23.

24.

25.

(%) mﬁaﬁﬁm@ﬁﬁwqﬁﬁ@@ﬁﬁﬁwwﬁm
s R | R R ww B fy A T T @ SRR g,

(ii) WTENTE TR 8 |

(%) F=ifad R s ATew W i

rarfamwa FREEET

0-10 3]
10-20 8
20 -30 20
30— 40 16
40 - 50 7
50 - 60 o

frifera wie & IW =t 5t i
8x—5y—4=0
O =2y + 7
ST
2 oiEl $i TH GO T 36F ! F AL W GE H ANGE 66 7 | I FeEA
F P! BT AT 2 B, T T T RN |

e A B S 15 fiw 3 1 uR S Y A, TF H gl AR 9 W & o W
S5 0T 30° T VAT & UIE i AT P 45° % | Fag AR wam A Send
53+ V3) X 2 |

HY4GT

o WoH &% Y & T FAR F W ITm Fior 60° 2 | e F W 7, AR & 9
1 TG BT 45° 8 | TG WA S 4orﬁa% o fag Hifvre 6 e & S
20(y3 — 1) B |
o 3G Th TF F AL F 2, A wheyH dHr G F adie w sarifia § |
Rt SIS F 9% USS U NF F T T WA &, O g o e o S+
AT A AT |

ot

21 ¥t fisw aTe TF I F A & W 60° FH I FANA FTA R | =W gRI §Q
e Freerave F1 &b T il | |

822 (HX) ’ ' 6

https://www.upboardonline.com

4

4



(English Version)

Instructions :

(1)
(it)
(i)
(iv)
(v)
(vi)
(vit)
(viti)
(ix)
(x)

(xi)

(xit)

First 15 minutes qre allotted for examinees to read this question paper.

All questions are compulsory.

This question paper has two Parts A and B.

Part ~ A contains 20 multiple choice type questions of 1 mark each that have to be

answered on the OMR Answer Sheet only.

After giving answer on the OMR Answer Sheet do not cut it and do not use eraser,

whitener, ete.

Part - B contains descriptive type questions of 50 marks.

There are 5 questions in Part - B,

In the beginning of each question, it has been clearly ‘mentioned that how many

parts of it are to be attempted.

Marks allotted to each question are mentioned against it.

Start from the first question and go up to the last question. Do not waste your

time on the question you cannot solve. https://www.upboardonline.com

If you need place for rough work, do it on the left page of your answer book and

eross (x) the page. Do not write the solution on that page.

Draw neat and correct figure in solution of a question wherever it is necessary,

otherwise in its absense the solution will be treated as incomplete and wrong.

Part-A

Multiple Choice Questions :

1. I LCM of 26, 156 is 1586, then the value of HCF will be :
(A) 156 (B) 26
(C) 13 (D) 6

2. Which one of the following is a pair of co-prime numbers ?
(A) (14, 35) (B) (18,25)
(C) (31,93) D (32,62)

822 (HX) 7 -
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3. The distance between the points (5, 0) and (12, 0) will be :
(A) b (By 7
(C) 13 (D) 1y

4.  The least number which when divided hy 35 56 and 91 leaves the same
remainder 7 in each case will be :
(A) 3640 (B) 3645
(C) 3647 (D) 3740

5.  The sum of first 15 multiples of 8 will be :
(A) 960 (B) 980
(C) 984 (D) 990

6.  If one root of quadratic equation x2 + 2¢ — p = 0 is — 2, then the value of p will be :
(A) 0O (BY 1 C) 2 _ (D) 3

%.  The co-ordinates of the point on the x-axis and equidistant from the points (5, - 2)
and (- 3, 2) will be :
(A) (2,0) (B) (2,2)
C€) (2,1 (D) (1,0

8. The nature of the roots of the equation 212 — 5x + 4 = 0 will be :
(A) Real and equal (B) Imaginary (not real)
(C) Real and distinct (D) None of thege

9. Two triangles are said to be similar to each other :
(A) If their corresponding angles are equal
(B) If their corresponding sides are proportional
(C) Both (A) and (B)
(D) None of these

822 (HX) 8
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10.
of Z OAB will he : i
) D¢ R
70°
0X)126°
- y 5 —
(A) 55° (B) 60° (C) 6h° (D) 707
11. Ifsin @ =cos 6, 0°< 6 <90° then the value of § will be: 1
(A) 60° (B) 45° (Cy 30° (Dy 0°
12, Thevalue of S50 will be: :
c0s 75
(a) 1 B) 0 (Cy 2 (D) -1
13. Ifsin @ —cos @ = 0, then the value of (sin¢ 6 + cos? @) will be: 1
1 1 3
- B) — C) - D)1
(A) 7 (B) 3 (&) 1 (D)
14. The value of (sec A + tan A) (1 —sin A) will be : 71
(A) secA (B) sinA (C) cosecA (D) cosA
15. In the figure, the angles of depression of point O as seen from points A and P
are: 1
A P
60°
45°
0O B @
(A) 30° 45¢ (B) 45°, 30°
(C) 45" 60° (D) None of these
822 (HX) 9 PTO
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In the figure, A ODC ~ A OBA. If £BOC = 125° and ¢~ CPO = 70°, then the value



1 rpe value of 8in A cos B + cos A sin B

16. Inatriangle ABC, ZC=90"and tan 4 = y
3
will be : I
(A) 0 (B) — © 1 D) V2
¥y
17.  The length of the minute hand of a clock is » cm. The area of the sector swept hy
the minute hand in one minute will be : 1
2 2 2 - 1?,2
&) = (B) —— ) == D) o=
60° 180° 360° 90°
18. The whole surface area of a solid hemisphere of diameter % cm will be 1
1 3 2 1 2 3 em?
(A) -gfrcm2 (B) T em (C) Frem (D) 35 7 OO
19. The mean and median of a frequency distribution are 261 and 25-8 respectively.
The value of mode for the distribution will be : 1
(A) 24-2 (B) 25:1 (C) 252 (D) 264
920. The measure of central tendency is : 1
(A) Freguency (B) Mean
(C) Median (D) Both (B) and (C)
Part - B
Descriptive Questions :
21. Do all the parts: | |
(a) Given that HCF (99, 153) = 9, find the value of LCM (29, 153). 2
(b) 1f2cos? 45°—1=cos A, then find the value of &. 2
() The distance between the points (4, y) and (12, 3) is 10 units. Find the value
of y. : 2
(d) Find the relation between x and y such that the point (x, ¥) is equidistant
r2

from the points (3, 8) and (- 3, 4).

(e) 'The radius of the base of a right circular cone is 3-5 cm and height is 12 cm.
2

Find the volume of the cone,

822 (HX) 10
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(f)  Find the mean from the following table ; "

—_—

Class In&:l'af Frequency
0-10 3 o
0-20 | 1

T 0-3 | 1
30 - 40 o
40 - 50 7
L

99. Do any five parts :

(a) Find the zeroes of the quadi-atic polynomial x2 + 12 + 7x and verify the

relationship between the zeroes and the coefficients. 4
(b) The difference of squares of two numbers is 180. The square of the smaller
number is 8 times the larger number. Find the two numbers. 4
(c) Prove that the angle between the two tangents drawn from an external
point to a circle is supplementary to the angle subtended by the line
segments joining the points of contact to the centre. 4
(d) Inthe figure, OA,OB =0C.0OD. Show that LZA=ZCand £ B=/D. 4
C
A
0
D
B
(6)  One card is drawn at random from a well-shuffled deck of 52 cards. Find
the probability that the card drawn is (i) a king, (ii) not a king,. ¥y
822 (HX) 11 P.T.O.
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23.

25.

() Find the median of the following frequency distribution :

: Class Interval | Frequency
. 0-10 5

10 - 20 8

20 - 30 20

30 — 40 15

40 — 50 7
| 50-60 5

Solve the following pair of equations :
3x—-by-4=0
Ox =2y + 7
OR

The sum of a two-digit number and the number obtained by reversing the order of

its digits is 66. If the digits differ by 2, find the numbher.

The height of a temple is 15 metres. From the top of the temple, the angle of
elevation of the top of a building on the opposite side of the road is 30° and angle
of depression of the foot of the building is 45°. Prove that the height of the

building is 5(3 + V3 ) metres.

OR
From the top of a building, the angle of elevation of the top of a tower 1s 60°. From
the top of the building, the angle of depression of the foot of the tower is 45°. If the
height of the tower is 40 metres, then prove that the height of the building is

20(+/3 - 1) metres.

A solid is in the shape of a cone which is surmounted on a hemisphere of same

base radius. If the curved surfaces of the hemisphere and the cone are equal, find

the ratio of radius and height of the cone.
OR
An arc of a circle of radius 21 cm subtends an angle of 60° at the centre. Find the

area of the sector formed by the arc.

822 (HX) 12
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